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1
Introduction

ANSWERS TO WARM-UP EXERCISES

1.

(a) The number given, 568 017, has six significant figures, which we will retain in converting the number to scientific nota-
tion. Moving the decimal five spaces to the left gives us the answer, |5.680 17 x 107,

(b) The number given, 0.000 309, has three significant figures, which we will retain in converting the number to scientific
notation. Moving the decimal four spaces to the right gives us the answer, [3.09 x 10 .

We first collect terms, then simplify:

[MI[LT [T][] [MIILTITT _|[M]IL]

77 [L] [TT[L] [T]

As we will see in Chapter 6, these are the units for momentum.

Examining the expression shows that the units of meters and seconds squared (s?) appear in both the numerator and the de-
nominator, and therefore cancel out. We combine the numbers and units separately, squaring the last term before doing so:

( 1.00km )/ 60.0s )
[700 jk100><103m)L100mmJ

1.00 (3600 ) (km)[ & )
:(7'00)[1.00><103)£1.00) 7N XI? ) nin? )
— |25 km

min

The required conversion can be carried out in one step:

The area of the house in square feet (1 420 ft?) contains 3 significant figures. Our answer will therefore also contain three

significant figures. Also note that the conversion from feet to meters is squared to account for the ft™ units in which the area
is originally given.

1.00m )\
A= 1420&2[ ) =131.909 m’ =[132 m’]
( 32w m =

Using a calculator to multiply the length by the width gives a raw answer of 6 783 m This answer must be rounded to con-
tain the same number of significant figures as the least accurate factor in the product. The least accurate factor is the length,
which contains 2 significant figures, since the trailing zero is not significant (see Section 1.6). The correct answer for the

area of the airstrip is |6.80 x 10" m?,

Adding the three numbers with a calculator gives 21.4 + 15+ 17.17 +4.003 = 57.573. However, this answer must be
rounded to contain the same number of significant figures as the least accurate number in the sum, which is 15, with two
significant figures. The correct answer is therefore .

The given Cartesian coordinates are x =—5.00 and y = 12.00. The least accurate of these coordinates contains 3 significant
figures, so we will express our answer in three significant figures. The specified point, (-5.00, 12.00), is in the second quad-
rant since x < 0 and y > 0. To find the polar coordinates (, &) of this point, we use

r=+Jx’ +3* =1/(5.00)* +(12.00)* =13.0

and



6=tan™ (Z) =tan” (ﬂ) =-67.3°
X -5.00

Since the point is in the second quadrant, we add 180° to this angle to obtain 8 =—67.3°+180° =113°. The polar coordi-

nates of the point are therefore |(13.0, 113°)|.

9.  Refer to ANS. FIG 9. The height of the tree is described by the tangent of the 26° angle, or

tan 26° = L
45 m

from which we obtain .

7N 26°
h:(45 m)tan26°: [‘3"}“"‘:"5'1—‘; ---------

ANS. FIG 9

ANSWERS TO EVEN NUMBERED CONCEPTUAL QUESTIONS

2. Atomic clocks are based on the electromagnetic waves that atoms emit. Also, pulsars are highly regular astronomical clocks.
4. (@) ~051b=025kgor~10" kg
(b) ~41lb=2kgor~10" kg
(¢) ~4000 Ib=2000 kg or ~10" kg
6. Letus assume the atoms are solid spheres of diameter 107" m. Then, the volume of each atom is of the order of 107 m”.
(More precisely, volume = 4zr* /3 = md*[6.) Therefore, since | ¢cm® = 10 m?, the number of atoms in the 1 cm® solid is on
the order of 10°*/107™" = 10 atoms. A more precise calculation would require knowledge of the density of the solid and the

mass of each atom. However, our estimate agrees with the more precise calculation to within a factor of 10.

8. Realistically, the only lengths you might be able to verify are the length of a football field and the length of a housefly. The
only time intervals subject to verification would be the length of a day and the time between normal heartbeats.

10. In the metric system, units differ by powers of ten, so it’s very easy and accurate to convert from one unit to another.

12. Both answers (d) and (e) could be physically meaningful. Answers (a), (b), and (c) must be meaningless since quantities can
be added or subtracted only if they have the same dimensions.

ANSWERS TO EVEN NUMBERED PROBLEMS

2. (@ L/T (d L

4. All three equations are dimensionally incorrect.

6. (@ kg m/s (b) Fr=p

8. (@ 226 (b) 227 (¢) 22.6is more reliable
10. (a) 3.00x10° m/s (b) 2.9979x10"° m/s (€)  2.997925x10" m/s
12. (@ 346m’+13m’ (b) 660m=l13m
14. (a) 797 b 1.1 () 17.66

16. 3.09 cm/s
18. (a) 5.60x10°km=5.60x10° m=5.60x10" cm

(b) 04912km=491.2m=4.912x10" cm



20.

22.

24,

26.

28.

30.

32.

34.

36.

38.

40.

42,

44.

46.

48.

50.

52.

54.

56.

58.

60.

62.

(© 6.192km=6.192x10" m =6.192x10° cm

(d) 2.499km =2.499x10° m = 2.499 x10° cm

10.6 km/L

9.2 nm/s

29x10* m*=2.9x10* cm®

2.57x10° m*

~10" steps

~10* people with colds on any given day

@ 42x10" m*® ~10" m’ (© ~10" cells

(@) ~10” prokaryotes ) ~10" kg

(¢)  The very large mass of prokaryotes implies they are important to the biosphere. They are responsible for fixing car-
bon, producing oxygen, and breaking up pollutants, among many other biological roles. Humans depend on them!

22m

8.1 cm

As :Jrl: +r; =2rr,cos(6, - 6,)
233 m

(a) 1.50m (b) 2.60m
8.60 m

(a) and (b)

FE— 100 km—>

|= - -
(© y/x=1anl2.0° y/(x-1.00 km)=1tan14.0° (d 1.44x10° m
_d-tanf-tan¢

tan¢—tan 8
(a) 1.609 km/h (b) 88 km/h (¢) 16 km/h

Assumes population of 300 million, average of 1 can/week per person, and 0.5 0z per can.

(@) ~10" cans/yr (b) ~10° tons/yr

(@ 7.14x107 gal/s  (b) 2.70x10°* m’[s (¢ 1.03h
(@ A/A =4 b V/V,=8

(@) 500yr (b) 6.6 x10*times

~10* balls/yr. Assumes 1 lost ball per hitter, 10 hitters per inning, 9 innings per game, and 81 games per year.



PROBLEM SOLUTIONS

1.1 Substituting dimensions into the given equation T = 27,/(/ ¢ , and recognizing that 27is a dimensionless constant, we have

Tl _ L _ e
[T]=%||I% or T—JL/: VTP =T

Thus, the | dimensions are consistent |

X
1.2 (a) Fromx = B¢, we find that B= X Thus, B has units of

B

(]

L
[B]= el

(b) Ifx=Asin(2xft), then [A]l=[x]/[sin (27 )]

But the sine of an angle is a dimensionless ratio.

Therefore, [A]=[x]=

1.3 (a) The units of volume, area, and height are:

[V]=L%[A]=1" and [h]=L

We then observe that 1. =1°L. or[V]=[Al[/]

Thus, the equation V = Ak is |dimcnsinnally correct |

() Viyuge = TR A= (TR |h = Ah, where

Victmgulabor = £Wh={£w)h = Ah, where | A = fw=length = width |

. . ) . LY _ ML
1.4 (a) Inthe equation £ mov’ =< muv; +.fmgh, [mo”1=[mv;]= M(?J =1

L M'L - .
while [Jm h J = M[—_ JL = T Thus, the equation is I dimensionally incorrect ‘

) L 2 2 L 2 - : -
(b) Inv=1v,+at’ [v]=[v,]= T but lat”]=[a][t"] = [T_ J(T )=L. Hence, this equation is | dimensionally incorrect |,

L \_ML .lzj_Ll_L: , .
ol , while[v"]= T T Therefore, this equation

(¢) In the equation ma = v°, we see that [ma]=[m][a]= M[

is also | dimensionally incorrect |.

1.5 From the universal gravitation law, the constant G is G = Fr*/Mm. Its units are then

- [FI[*] _ (kg -m/s*)(m*) | m’

C[M][m] T hgke kg s’

[G]
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1.6 (a) Solving KE = P for the momentum, p, gives p = /2m(KE) where the numeral 2 is a dimensionless constant. Di-
m

mensional analysis gives the units of momentum as:

[p]=4[m][KE] :JM(M-L?/TQ) =M L/T" =M(L/T)
Therefore, in the SI system, the units of momentum are | kg- (m/s).

(b) Note that the units of force are kg - m/s® or [F]=M-L/T’ Then, observe that
[FI[t]=(M-L/T*)- T=M(L/T)=[p]
From this, it follows that force multiplied by time is proportional to momentum: . (See the impulse-momentum

theorem in Chapter 6, F'- At = Ap, which says that a constant force F multiplied by a duration of time Af equals the
change in momentum, Ap.)

1.7 Area=(length)x(width)=(9.72 m)(5.3 m) =

1.8 (a) Computing (J§ )3 without rounding the intermediate result yields

(J§ )'l = to three significant figures.
(b) Rounding the intermediate result to three significant figures yields
J8=2.8284 — 283

Then, we obtain (\/§ ):‘ =(2.83)' = to three significant figures.

(c) |The answer 22.6 is more reliable | because rounding in part (b) was carried out too soon.

1.9 (@) 78.9+0.2has I 3 significant figures | with the uncertainty in the tenths position.

(b) 3.788x10° has | 4 significant figures |

(¢) 2.46x10™ has |3 significant figures |

(d) 0.0032=3.2x10""has I 2 significant figures ‘ The two zeros were originally included only to position the decimal.

1.10 ¢=2.997 924 58x10" m/s

(a) Rounded to 3 significant figures: ¢ =| 3.00x10* m/s

(b) Rounded to 5 significant figures: ¢ =l 2.997 9%10" m/s |

(c) Rounded to 7 significant figures: ¢ =l 2.997 925x10° m/s ‘

1.11 Observe that the length {=5.62 cm. the width @w = 6.35 c¢m, and the height s = 2.78 cm all contain 3 significant figures.
Thus, any product of these quantities should contain 3 significant figures.

(@)  fw=(5.62cm)(6.35 cm)=
(b) V=(fw)h=(357 cm®)(2.78 cm)=]99.2 cm’]
© wh=(6.35cm)(2.78 cm) =[17.7 cm’]



1.12

1.13

1.14

1.15

1.16

1.17

1.18

=(wh){=(17.7Tcm® ){5.62 em) =

(d) In the rounding process, small amounts are either added to or subtracted from an answer to satisfy the rules of signify
cant figures. For a given rounding, different small adjustments are made, introducing a certain amount of randomness
in the last significant digit of the final answer.

(@ A=nr’=r(10.5m02m)’ =RT|:(]0.5 m)* £2(10.5m)(0.2m)+(0.2 m)z]

Recognize that the last term in the brackets is insignificant in comparison to the other two. Thus, we have

A :77:[] 10m>+£4.2 m2]: 346 m’+13m’
(b) C=2mr=27(105m+02m)=

The least accurate dimension of the box has two significant figures. Thus, the volume (product of the three dimensions) will
contain only two significant figures.

V=i w h={29cm)(17.8 cm}{11.4 cm)=|5.9x10" cm’
(a) The sum is rounded to because 756 in the terms to be added has no positions beyond the decimal.

(b) 0.0032x356.3= (3.2><]0’ )x?% 3=1.14016 must be rounded to because 3.2x 107 has only two significant
figures.

(¢) 5.620% 7 must be rounded to | [7.66 | because 5.620 has only four significant figures.

280 ft V(1 f:
d =(250 000 mi) 5280 1t. 1 fathom —[2x10° fathoms
1.000 mi 6 ft

The answer is limited to one significant figure because of the accuracy to which the conversion from fathoms to feet is
given.

220 yds ” “ 100 cm
| furtene || 1 wd | 3.281 ,r{

{186 fusdenss [ | Tammight |( 1 dag 1
¢ 1 Tormight | 14 day® H\s.rﬁqu*sw

gﬂf 3786 K |(10° em™ ) Im’ ) :
600t1rk1ns-600??hm;[ ol [ ™ J[m“fmi}o'zmm

(a) —(34811]]|M |=|5.f~n><mf km |=|5.60x10° m |=[5.60x107 cm |

1000 mi |

by h=(161210) LK | A0S ki | =[4912 m |=[4912x10° cm
5280 fi

[ 1.609 km
© h:(zogzon)[mJ [6.192km |=| 6.192x10° m |=|6.192x10° cm |

5280 ft

%) d={8200ft)("60ﬂ]= 2.499 km | =[2.499x10° m |=|2.499x10° cm |

In (a), the answer is limited to three significant figures because of the accuracy of the original data value, 348 miles. In (b),
(c), and (d), the answers are limited to four significant figures because of the accuracy to which the kilometers-to-feet con-
version factor is given.



Caen W] ke I mi 3600 £ ) ‘
1.19 0_38'07[]()"}}1\][].609%][ b ]—85.0 mi/h

| Yes, the driver is exceeding the speed limit by 10.0 mi/h .

e o 1km 1 2al :
efficiency =25.0 — =(10.6 km/L
1.20 Sfiseng Ral | 0.621 prf || 3.786 L

121 @ r= diameter _ 5.36 in [2.54 cm }_
. a = = - =|6.

2 2 I in
(b) A=d4m’ =4n(6.81cm) =
4 4 4 3 3 3
© V=S =;x(6-81cm)=

I da |(10sy ) 1 (254 2 ) 10° nm
ate =| — < =(9.2 nm/s
1.22 rate [32 Bax][ 24}4’}[36009, 1.00 48 || 10% B2
This means that the proteins are assembled at a rate of many layers of atoms each second!

: s R)(3600-s [ 1 il 1 mi . —
123 C_[3'UOX]O -;M Ih J[lo-‘m](].awm]_

2832107 m’
1.24 Volume of house = (50.0 ft)(26 ft)(8.0 f:)[%]
L
kY

- - . sy 100 em Y
—[29x10° w0 |=(29%10° o )| L2 | 29 x10" cnr
Y /

Il m

| aere-

43560 T :
2 vomec(sn e i (S0 (1. ]

1.26 WValume of pyramid = —{area of base ) height)

L | —

=%|:|:]3.D acres)(43 560 £t facre||(481 ft)=0.08 <107 f

. _ 1 -2 3
= (9.08x107 ﬂﬂ[%% 2.57x10° ut
: ; ,

b A

1.27 Volume of cube = L’ =1 quart (Where L = length of one side of the cube.)

Thus, L-‘=(1 M)[Lﬁj [2172;2@][110%:1 J =947 cm’

and  L=4947 em’ =[9.82 cm |

1.28 We estimate that the length of a step for an average person is about 18 inches, or roughly 0.5 m.

Then, an estimate for the number of steps required to travel a distance equal to the circumference of the Earth would be

_ Circumference _ 2aR, 27(6.38x10° m)

=8x107 steps

Step Length - Step Length 05 m/step



1.29

1.30

1.31

1.32

1.33

or N —~10* ste ps

We assume an average respiration rate of about 10 breaths/minute and a typical life span of 70 years. Then, an estimate of
the number of breaths an average person would take in a lifetime is

(- breaths 3.156x107 X (il ) o
:;_[10 e }(70)*1‘)[ Lyt J[ﬁﬂk]_4 10° breaths

or s —10% breaths

We assume that the average person catches a cold twice a year and is sick an average of 7 days (or 1 week) each time. Thus,
on average, each person is sick for 2 weeks out of each year (52 weeks). The probability that a particular person will be sick
at any given time equals the percentage of time that person is sick, or

2 ks |
probability of sickness = ——> =~
52 weeks 26

The population of the Earth is approximately 7 billion. The number of people expected to have a cold on any given day is
then

Number sick = ( population)( probability of sickness)= [7 =107 )[%6 ]— 3x10° or m

(a) Assume that a typical intestinal tract has a length of about 7 m and average diameter of 4 cm. The estimated total in-
testinal volume is then

vm=m:=| rd |.e'

_ m(0.04 m)° (7
4

Tm)=0.009 m"
4

The approximate volume occupied by a single bacterium is
Lo

bacteria — | f¥pical length scale y = [J[}I'G m :I3 =107% m’

If it is assumed that bacteria occupy one hundredth of the total intestinal volume, the estimate of the number of microorgan-
isms in the human intestinal tract is

V. /100 (0.009 m) /100

- = E_®
WVoactera 107 m

=0x10" or n-[104]

(b) The large value of the number of bacteria estimated to exist in the intestinal tract means that they are probably not
dangerous. Intestinal bacteria help digest food and provide important nutrients. Humans and bacteria enjoy a mutually bene-
ficial symbiotic relationship.

(a) V. :%:rr'i =%Jr(l.0><1076 m)" =142%10" m?

(b) Consider your body to be a cylinder having a radius of about 6 inches (or 0.15 m) and a height of about 1.5 meters.
Then, its volume is

ooty = AR = (mr Jh=m(0.15 m)* (L.5m)=0.11m" or

(¢) The estimate of the number of cells in the body is then

{ 0.11m’ ;
n=—ut —=2.6x10% or

o A2 m?

A reasonable guess for the diameter of a tire might be 3 ft, with a circumference (C = 27+ = wD = distance travels per revo-

8



1.34

1.35

1.36

1.37

1.38

1.39

1.40

lution) of about 9 ft. Thus, the total number of revolutions the tire might make is

total distance traveled (50 000 mi)(5 280 ft/mi) . .
S = =3x10 S ~10 /
] f 9 fl/re\_.r rev, or

distance per revolution

Answers to this problem will vary, dependent on the assumptions one makes. This solution assumes that bacteria and other
prokaryotes occupy approximately one ten-millionth (10-7) of the Earth’s volume, and that the density of a prokaryote, like
the density of the human body, is approximately equal to that of water (103 kg/m3).

7 107 )W, (1077 R} (107)(10% m)’ -

(a) estimated number = h= V‘rm‘ --{ v Al ] = E— _n 3 ] ~[10®
lnge g (length scale) (107% m)
e " . )

(b)  m,,, =|density)(toral volume) - p

e Hlﬁh |—| 103 kg | || 10* ||'l'3I"S m]

aryole |

(c) The very large mass of prokaryotes implies they are important to the biosphere. They are responsible for fixing car-
bon, producing oxygen, and breaking up pollutants, among many other biological roles. Humans depend on them!

The x coordinate is found as x=rcosf= ( )ws 35°=
and the y coordinate y=rsinf= ( ]Sm 35°=

The x distance out to the fly is 2.0 m and the y distance up to the fly is 1.0 m. Thus, we can use the Pythagorean theorem to
find the distance from the origin to the fly as

d=+/x"+y" 7\/20m IOm) = (22m

The distance from the origin to the fly is r in polar coordinates, and this was found to be 2.2 m in Problem 36. The angle 0 is
the angle between r and the horizontal reference line (the x axis in this case). Thus, the angle can be found as

10
an@=2=-"""2050 and O=tan" (0.50)=27°
x 2.0m

The polar coordinates are I r=2.2m and 6=27° |

The x distance between the two points is |Ax| =[x, —x, | =|-3.0 em - 5.0 cm|=8.0 cm and the y distance between them is
|Ay] =y, = y,|=3.0 em = 4.0 cm|=1.0 cm. The distance between them is found from the Pythagorean theorem:

d=|Axf +[af =80 em)” +(1.0 em)” = V65 cm®=[8.1cm |

Refer to the Figure given in Problem 1.40 below. The Cartesian coordinates for the two given points are:

x =rcos8 =200 m)eos50.0°=1.29 m X, =rcosf, =500 mjcos(—50.0")=3.21 m

¥ = fsing =(2.00 m)sin30.0°=1.53 m ¥y =r s, =500 m)sin(-50.0%)=-383 m

The distance between the two points is then:

As-J(Ax) +(Ay) \/(l 29 m-3.21m)" +(1.53 m+3.83 m)* =[5.69 m]

Consider the Figure shown at the right. The Cartesian coordinates for the two points are:

X, =1 cosf, X, =1 cos6,

¥, =#sing, ¥, =rsin6,



I
I
il
Pl
Fl [
Asi Ay=y1—»
[
Lo
I
(22, ¥2) 1 I
g 2__—e—=-l
N ——TH, Ax=x1—x
x

As = \/(A)c)2 +(A.y)2 = \/(x, — X, )2 +(.V| ‘."'2]

or

f
i‘..s‘—,.llll

The distance between the two points is the length of the hypotenuse of the shaded triangle and is given by

FYE 11 | 1. 2 T . 1 . )
I[Jr'l cos” 8, +r cos” 8, — 2Rr cos8, cosnﬂ:]+|[rl sin” 8, + i sin” 8, — 25m sin B, siné; |

= ,qu':f [_cos: 6 + sin® a ]l + r: {co:;z a,+ sin® 8, ]l —2rr, (cosB, cos8, +sin 6, sin 8, )

Applying the identities cos® @+sin’ @ = 1 and cos8, cos0, +sin 8, sin 8, = cos (6, — 6, ), this reduces to

141 (a)

1.42 From the diagram, cos(75.0°)=d/L

= Jrlz +15 —2nncos(6,-6,)

As = \/rf +15 =251 (cos 6, cos B, +sin 6, sin 6, )

(b) tanf=

With @ =6.00 m and b being two sides of this right triangle having hypotenuse ¢ =9.00 m, the Pythagorean theorem

gives the unknown side as

b= =a® = {J(9.00m)’ -(6.00 m)’ =[6.71 m]

b

i@ = 6.00m

c=900m

6. 71 m

-

%2600 m :

Sil’]¢?—2=6‘7] m :

T ¢ 9.00m

Thus, d = L cos(75.0°) =(9.00 m) cos(75.0°)= {233 m

iy

[

—

10



1.43 The circumference of the fountain is C = 27, so the radius is

C 150m

= =239 m
2T 2z

h
Thus, tan(55.0°) = —=
r

h Lo
239m which gives

h=(2.39 m)tan(55.0°) :| 341 m

; opposite side
144 (a) sing="PPOEICE o opposite side = (3.00 m)sin(30.0°)=

hypotenuse
adjacent side
(b) cosb= m so, adjacent side =(3.00 m)cos(30.0°)=

1.45 (a) The side opposite 6 = (b) The side adjacent to ¢ =
(c) cos@= 40 0.800 (d) sing = L 0.800
500 = 500 —

4.00
tang=——= [133
(e) n¢ 3'(1) -

1.46 Using the diagram at the right, the Pythagorean theorem yields

¢=(5.00 m)’ +(7.00 m)* = [8.60m |
500 m

1.47 From the diagram given in Problem 1.46 above, it is seen the

5.00 B} -
tan® = @00 =0.714 and O=tan™' (0.714)=|35.5"|

1.48 (a)and (b) See the Figure given at the right.

T.00 m

(c¢)  Applying the definition of the tangent function to the large right triangle containing the 12.0° angle gives:

)
y
12.0° e ||

I
I

]
= x .

8

Also, applying the definition of the tangent function to the smaller right triangle containing the 14.0° angle gives:

y
x—1.00 km

= tan 14.0° 2]

11



(d) From Equation [1] above, observe that x=y/tan12.0°

Substituting this result into Equation [2] gives

y-tan12.0°

= tan14.0°
y—(1.00 km)tan12.0°

Then, solving for the height of the mountain, y, yields

- . ] O ¢y =
= (1.00 km)tan12.0°tan14.0 i :

tan14.0° —tan12.0°

1.49 Using the sketch at the right:

w
100 m

w=(100 m)tan35.0°= 70.0 m

1.50 The figure at the right shows the situation described in the
problem statement.

=tan35.0°, or

T m

Applying the definition of the tangent function to the large right triangle containing the angle @in the Figure, one obtains

)
¥
9 o 1]

v/x=tanf [1]

Also, applying the definition of the tangent function to the small right triangle containing the angle ¢ gives

Pl 2]

Solving Equation [1] for x and substituting the result into Equation [2] yields

y

- y-tanf@ tan o
y/tan@—d

tan or —_— =
¢ v—d-tan@

The last result simplifies to y-tan@=y-tan¢—d-tan@-tan¢

Solving for y: y(tan®—tan¢)=—d -tan8-tang or

_ _d-anf-tang |d tanB-tang
tan 8 — tan ¢ tan¢—tan 6

1.51 (a) Given thata = F/m_ we have F o= ma. Therefore, the units of force are those of ma,

(F1=[ma]=[m][a)=M(L/T*)=

L ML kg-m
Fl=M| = |=— S0 newton = | —=—
®) [F] [T' ] T s”
mi mi [ 1.609 km km
|l —=|1 — || ———— |5 0 —
1.52 (a) b [ h J( T ] 1.609 i
mi mi }( 1.609 km/h ~ km
0., =55 —=|55 0 || 200 |= | gg M
(b) My h [ h J[ 1 n]i{fh ] 88 h
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(© Ao, =65 M _s5 Mi_[jo mi) 1609 kmh]_T, " km
h > h h )|~ 1 mih h

153 (a) Sincelm=10 cm, thenlm® =(1 m)' =(10° cm) =(10%)" em* =10° em’, giving

mass =(densi[y)( vo]ume)=[%o_zkg](] Om’ ]
Oem’

=[1.0x10'-‘k—%](1.0 )[“17"]]
m

cm

As a rough calculation, treat each of the following objects as if they were 100% water.

(b)  cell: mass = density x volume = [IO1 k—‘% J%E(O.SOX 10° m )'1 =|52x107" kg

m

. : 4 4 1 kg |4 ) 3 5
(c) kidney: mass = density x volume = p il 10° == ;Jr(-’-LOxIO m) =[0.27 kg

mass = density X volume = (density ) (m- 3!1)
(d) fly:

_[10 ]F]K(I,om m)’ (4.0x10” m)

m

1.54 Assume an average of 1 can per person each week and a population of 300 million.

I - . L - 4
number cans;person _
|[p0pu]ﬂtu:un] [ weeks/year)

week

b A

(a) number cans/year =

|"1 M]{Jxm“ people ) (52 weeks/yr)

| week
=2x10'" cans/yr, or ~1p" cans|yr

(b) number of tons = { weight /can ) number cans /vear )

- |(Dq oz ']( 11k | 1 ton | (
. can )l 160z )| 200016 |

=3x10" ton/yr, or ~10° tonyr

Assumes an average weight of 0.5 oz of aluminum per can.

210" S0 |
yr |

1.55 The term s has dimensions of L, a has dimensions of LT-2, and ¢ has dimensions of T. Therefore, the equation, s = ka" t"
with & being dimensionless, has dimensions of

L= (LT_Q ) " (T),, or L'T® = "2
The powers of L and T must be the same on each side of the equation. Therefore, L' = L™ and

Likewise, equating powers of T, we see that n—2m =0, or

Dimensional analysis cannot determine the value of &

, a dimensionless constant.
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1.56

1.57

1.58

1.59

1.60

(a)  The rate of filling in gallons per second is

3 o i =
rate=—00 83l (1min }_ 7770102 gal/s
T7.00 min{ 60s

(b) Note that Note that I m’ :(]02 i:m)3 z(l()ﬁ cm’ )(%Wz 10° L. Thus,

10" em™ )

1 gal

- 3
rate=7.14x107 g—al( SIS0 L ]( :{;nL ]: 2.70x107" m’/s
S _

3
(@ r=tmeo  LOOM _5gh. 00 s[ Lh ]= LO3h

rate 2.70x10™ m’/s 3600 s

The volume of paint used is given by V"= 4h, where 4 is the area covered and /4 is the thickness of the layer. Thus,

Vo 3.79%107 m’ . r
h=—="——oo-"-=1.92x107 m=152x10 111:-]52 m
A 25.0 m> H

(a) For a sphere, A =4zR’. In this case, the radius of the second sphere is twice that of the first, or K, =2 R,.

(b) For a sphere, the volume is V=—nRk

3)zR: R (2R)
Ths, Ye=(R)R: Ry _(R) g
V. (4/3)zR; R, R,

The estimate of the total distance cars are driven each year is
d =(cars in use)(distance traveled per car) =(100x10" cars)(10* mi/car)=1x10" mi
At a rate of 20 mi/gal, the fuel used per year would be

d _1x10" mi

= = ——— =5x10" gal
rate, 20 mi/gal

If the rate increased to 25 mi/gal, the annual fuel consumption would be

d _1x10”% mi _

)= =————=4x10" gal
© rate, 25 mi/gal

and the fuel savings each year would be

savings =V, =V, =5x10" gal —=4x10" gal =|1x10" gal

(a) The time interval required to repay the debt will be calculated by dividing the total debt by the rate at which it is re-
paid.

_ $17 trillion _ $16 x 10"
$1000/s — ($1000/5)(3.156 x 107 s/yr)

=539 yr~

(b) The number of times $17 trillion in bills encircles the Earth is given by 17 trillion times the length of one dollar bill
divided by the circumference of the Earth (C = 2zR ).

T
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17x107)(0.155
yoont Pa0oIssm) e

2R, 27(6.378x10° m)

L6l @ 1ye=(1 k)[%ﬂ'z@iﬂﬁ ][Sﬂi S]=

(b) Consider a segment of the surface of the Moon which has an area of 1 m2 and a depth of 1 m. When filled with mete-
orites, each having a diameter 107° m, the number of meteorites along each edge of this box is

e length ofanedge  1Im 105

meteorite diameter - 107" m
The total number of meteorites in the filled box is then
NZM" :(]Oa )3: 10"

At the rate of 1 meteorite per second, the time to fill the box is

ly . ]
110" s=(10" ) 7 310" v o

1.62 We will assume that, on average, 1 ball will be lost per hitter, that there will be about 10 hitters per inning, a game has 9
innings, and the team plays 81 home games per season. Our estimate of the number of game balls needed per season is then

number of balls needed = (number lost per hitter ) { number hitters/game ) { home games/year |

= (1 ball per hmcrjﬂ 10— ” g inning Mﬁl game

inning game ||| year |
balls balls
=7300 —  or  |~10* —
year year

1.63 The volume of the Milky Way galaxy is roughly
V. =A:=| nd :==£|IJCIH m) (10" m | or V. -10% w’
|4 40 I ! G

If, within the Milky Way galaxy, there is typically one neutron star in a spherical volume of radius r =3x10'® m, then the
galactic volume per neutron star is

4 4 :
v =TJTr3=TJTI_3><l(]lE mf= 1<10% m*  or ¥, -10" m’

The order of magnitude of the number of neutron stars in the Milky Way is then

v, 10" m’

5
£ or |n —~ 10" neutron r:t;uw|
¥V 107 m

n=

15



2
Motion in One Dimension

QUICK QUIZZES
1. (a) 200yd (b) 0 () O
2. (a) False. The car may be slowing down, so that the direction of its acceleration is opposite the direction of its velocity.
(b) True. If the velocity is in the direction chosen as negative, a positive acceleration causes a decrease in speed.

(c) True. For an accelerating particle to stop at all, the velocity and acceleration must have opposite signs, so that the
speed is decreasing. If this is the case, the particle will eventually come to rest. If the acceleration remains constant,
however, the particle must begin to move again, opposite to the direction of its original velocity. If the particle comes
to rest and then stays at rest, the acceleration has become zero at the moment the motion stops. This is the case for a
braking car—the acceleration is negative and goes to zero as the car comes to rest.

3. The velocity-vs.-time graph (a) has a constant slope, indicating a constant acceleration, which is represented by the accelera-
tion-vs.-time graph (e).

Graph (b) represents an object whose speed always increases, and does so at an ever increasing rate. Thus, the acceleration
must be increasing, and the acceleration-vs.-time graph that best indicates this behavior is (d).

Graph (c) depicts an object which first has a velocity that increases at a constant rate, which means that the object’s accel-
eration is constant. The motion then changes to one at constant speed, indicating that the acceleration of the object becomes
zero. Thus, the best match to this situation is graph (f).

4. Choice (b). According to graph b, there are some instants in time when the object is simultaneously at two different x-
coordinates. This is physically impossible.

5. (a) The blue graph of Figure 2.14b best shows the puck’s position as a function of time. As seen in Figure 2.14a, the dis-
tance the puck has traveled grows at an increasing rate for approximately three time intervals, grows at a steady rate for
about four time intervals, and then grows at a diminishing rate for the last two intervals.

(b) The red graph of Figure 2.14c¢ best illustrates the speed (distance traveled per time interval) of the puck as a function of
time. It shows the puck gaining speed for approximately three time intervals, moving at constant speed for about four
time intervals, then slowing to rest during the last two intervals.

(c) The green graph of Figure 2.14d best shows the puck’s acceleration as a function of time. The puck gains velocity
(positive acceleration) for approximately three time intervals, moves at constant velocity (zero acceleration) for about
four time intervals, and then loses velocity (negative acceleration) for roughly the last two time intervals.

6. Choice (e). The acceleration of the ball remains constant while it is in the air. The magnitude of its acceleration is the free-
fall acceleration, g = 9.80 m/s.

7. Choice (c). As it travels upward, its speed decreases by 9.80 m/s during each second of its motion. When it reaches the peak
of its motion, its speed becomes zero. As the ball moves downward, its speed increases by 9.80 m/s each second.

8. Choices (a) and (f). The first jumper will always be moving with a higher velocity than the second. Thus, in a given time
interval, the first jumper covers more distance than the second, and the separation distance between them increases. At any
given instant of time, the velocities of the jumpers are definitely different, because one had a head start. In a time interval af-
ter this instant, however, each jumper increases his or her velocity by the same amount, because they have the same accel-
eration. Thus, the difference in velocities stays the same.
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ANSWERS TO WARM-UP EXERCISES

1. For a quadratic equation in the form of ax® +bx+c =0, the quadratic formula gives the answer for x as
‘= —~b++/b* —4ac
2a

The quadratic equation given has a =2.00, » =—6.00, and ¢ =-9.00. Substituting into the quadratic formula gives two solu-
tions for #:

_ 6.001\/(—6.00)2 ~4(2.00)(-9.00) _ 6.00+108

t
2(2.00) 4.00

which gives 7 =|—1.10] or t =[4.10].

2. (a) Solving the first equation for the time ¢ (assuming SI units):
—98t+49=0 —> -98=-49 — ¢t=|50s
(b)  Substituting the value of ¢ from above into the equation for x:

x=—4.9 +49/+16 =—4.9(5.00 s)* +49(5.00 5)+16

=138.5 m =[140 m|

3. (a) Setting the two equations for x equal to one another, we obtain
3.00¢* = 24.0t +72.0
Rearranging gives us a quadratic equation,
3.00£* —24.0t-=72.0=0
Dividing out a factor of 3.00,
t*—8.00t-24.0=0

Substituting into the quadratic formula gives

8.00+/(~8.00)" —4(1.00)(~24.00)  §.00++/160
t= =
2(1.00) 2.00

=[103s]or —2.32's

Where we have chosen the positive root for the time ¢.

(b) Substituting the value of # from above into the first equation for x:

x=3.00* =3.00(10.3 s) =

Where the answer has been expressed in three significant figures.
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(a) The football player covers a total of 150 yards in 18.0 s. His average speed is

path length 150 yd
average speed = = =1(8.33 yd/s
gesp TR

elapsed time

(b) The football player’s average velocity is his total displacement divided by the elapsed time. His displacement at the
end of the run is 50.0 yards, since he has returned to the fifty-yard line.

_ Ax 500yd
T="= =[2.78 yd/s
IVRRTT

At ground level, the displacement of the rock from its launch point is Ay =—#4, where 4 is the height of the tower and up-
ward has been chosen as the positive direction. From Equation 2.10,

1_)2 = Z)g + 2aAy
we obtain (with a = —g),

o] =[foi + 2(=2) (-7)|

£J(12.0 m/s)” +2(-9.80 m/s* ) (—40.0 m)‘ =[30.5 m/s

Once the arrow has left the bow, it has a constant downward acceleration equal to the free-fall acceleration, g. Taking up-
ward as the positive direction, the elapsed time required for the velocity to change from an initial value of 15.0 m/s upward

(v, =+15.0m/s) to a value of 8.00 m/s downward (v, =-8.00 m/s) is given by

= -8.00 m/s —(+15.0 m/
Uil s —(+150ms) e

a -g -9.80 m/s’

We set the initial position of the blue ball, at a height of 10.0 m, as the origin and take upward as the positive direction. The
initial position of the blue ball is then 0, and the initial position of the red ball is 10.0 m — 6.00 m = 4.00 m below the blue
ball, or at y =—4.00 m. At the instant that the blue ball catches up to the red ball, the y coordinate of both balls will be equal.
The displacement of the red ball is given by

1
A.yred = y - yO,red = UO,redt +Eat2
Since the initial velocity of the red ball is zero,

I
yred :yO,red _Egt

The displacement of the blue ball is given by

1 2
Ayblue = yblue - yO,blue = vO,bluet + Eat

or

1,
Yolue = vO,bluet_Egt

Setting the two equations equal and substituting a = —g gives

18



1, 1,
Yo, red _Egt = UO,bluet_Egt

Simplifying,
Vo piuel = Yo rea
or

= Juw _ 400m e
Vpone 400 s

t

ANSWERS TO EVEN NUMBERED CONCEPTUAL QUESTIONS

2.

10.

12.

Yes. The particle may stop at some instant, but still have an acceleration, as when a ball thrown straight up reaches its
maximum height.

(@) No. They can be used only when the acceleration is constant.

(b) Yes. Zero is a constant.

(a) In Figure (c), the images are farther apart for each successive time interval. The object is moving toward the right and
speeding up. This means that the acceleration is positive in Figure (c).

(b) In Figure (a), the first four images show an increasing distance traveled each time interval and therefore a positive ac-
celeration. However, after the fourth image, the spacing is decreasing, showing that the object is now slowing down (or
has negative acceleration).

(¢) In Figure (b), the images are equally spaced, showing that the object moved the same distance in each time interval.
Hence, the velocity is constant in Figure (b).

(a) At the maximum height, the ball is momentarily at rest (i.e., has zero velocity). The acceleration remains constant, with
magnitude equal to the free-fall acceleration g and directed downward. Thus, even though the velocity is momentarily
zero, it continues to change, and the ball will begin to gain speed in the downward direction.

(b) The acceleration of the ball remains constant in magnitude and direction throughout the ball’s free flight, from the in-
stant it leaves the hand until the instant just before it strikes the ground. The acceleration is directed downward and has
a magnitude equal to the freefall acceleration g.

(a) Successive images on the film will be separated by a constant distance if the ball has constant velocity.

(b) Starting at the right-most image, the images will be getting closer together as one moves toward the left.

(c) Starting at the right-most image, the images will be getting farther apart as one moves toward the left.

(d) As one moves from left to right, the balls will first get farther apart in each successive image, then closer together when
the ball begins to slow down.

Once the ball has left the thrower’s hand, it is a freely falling body with a constant, nonzero, acceleration of a = —g.

Since the acceleration of the ball is not zero at any point on its trajectory, choices (a) through (d) are all false and the cor-
rect response is (e).
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14.

The initial velocity of the car is ¥, =0 and the velocity at time 7 is V. The constant acceleration is therefore given by

_Av_v-vy, v-0

a=—n=
At t t

1%
t

and the average velocity of the car is

The distance traveled in time 7 is Ax = Dt = vt/2. In the special case where a = 0 (and hence V=1, =0), we see that

statements (a), (b), (c), and (d) are all correct. However, in the general case (a # 0, and hence
v #0) only statements (b) and (c) are true. Statement (e) is not true in either case.

ANSWERS TO EVEN NUMBERED PROBLEMS

10.

12.

14.

16.

18.

20.

22,

(@ 2x10" mi (b) Ax/2R, =24

(a) 10.04 m/s (b) 7.042 m/s

(a) 5.00 m/s (b) 125 m/s (¢) —2.50 m/s

(d -3.33 m/s (e 0

(a) +4.0 m/s (b) —0.50 m/s (¢) -1.0 m/s

@ o0

(a) 2.3 min (b) 64 mi

(a Lt ) -L/t, © 0

@ 2L/(t,+t,)

(@ 13x10°s (b) 13m

(a) The trailing runner’s speed must be greater than that of the leader, and the leader’s distance from the finish line must be
great enough to give the trailing runner time to make up the deficient distance.

) t=d/(v,-v,) © d,=0,d[(0,-0,)

(a) Some data points that can be used to plot the graph are as given below:
x (m) 5.75 16.0 353 68.0 119 192
t(s) 1.00 2.00 3.00 4.00 5.00 6.00

(b) 41.0 m/s, 41.0 m/s, 41.0 m/s

(¢) 17.0 m/s, much smaller than the instantaneous velocity at t =4.00 s

(a) 20.0 m/s, 5.00 m/s (b) 263 m

0.391s
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24. i (@ o0 (b) 1.6 m/s’ () 0.80 m/s’

(i) (a) 0 (b) 1.6 m/s’ () 0
26. The curves intersect att =16.9 s.
500 -
i
g
w car
2504 police
officer
0 | | | |

1
0 4.00 8.00 12.0 16.0 20,0 ¢ (s)—

28. a=2.74x10" m/s* =(2.79x10*)g

30. (a) == i x (m)
| |
0 2.00%10° m
() v} =0 +2a(Ax) () a= (Uf -] )/Z(Ax) (d) 125 m/s’
(e) 8.00s
32. (a) 135m (b) 135m (¢) 135m
d 225m
34. (a) 20.0s (b) No, it cannot land safely on the 0.800 km runway.
36. (a) 5.51km (b) 20.8 m/s, 41.6 m/s, 20.8 m/s, 38.7 m/s
38. (@ 107m (b) 1.49 m/s’
40. (a) v=a (b) Ax=taf]
(©) Ax,,=tat +att,+iat;
42, 95 m
44. 29.1s
46. 1.79s
48. (a) Yes. (b) Dy =3.69 m/s () |A\"«|d“wnward =2.39 m/s

(@ No. |A;'|upwm =3.71 m/s, The two rocks have the same acceleration, but the rock thrown downward has a higher aver-
age speed between the two levels, and is accelerated over a smaller time interval.

50. (@ 211 m/s () 19.6m (¢) 18.1m/s, 19.6m
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(F]

52. (@ v=|uv,—g|=lv,+gt| (b) d=1gt
© v:|v“—gr|, d=Lgt’
54. (a) 29.4 m/s (b) 44.1m
56. (a) -202 m/s’ (b) 198m
58. (a) 4.53s (b) 14.1 m/s
60. (a) v =h/t+gt/2 (b) v=h/t—gt/2
62. See Solutions Section for Motion Diagrams.
64. Yes. The minimum acceleration needed to complete the 1 mile distance in the allotted time is a,;, =0.032 m/s’, considera-

bly less than what she is capable of producing.
66. @ vy =h-ot—igt’, y,=h+vt—Lgr’ by HL-1,=20/g

© v,=v,= —m (d) ¥y,—¥ =20t as long as both balls are still in the air.
68. 3.10 m/s
70. (a) 3.00s (b) Uy, =-152 m/s

(¢) 7 =-314 m/s,v,=-348 m/fs
72. (a) 2.2s (b) 21 m/s
74. (a) onlyifacceleration =0  (b) Yes, for all initial velocities and accelerations.
PROBLEM SOLUTIONS

2.1 We assume that you are approximately 2 m tall and that the nerve impulse travels at uniform speed. The elapsed time is then

A=A 2M 5107 s=[0.02 5]
v 100 m/s

2.2 (a) At constant speed, ¢ =3x10° m/s, the distance light travels in 0.1 s is

Ax=c(At)=(3x10" m/s)(0.1s)

= (310’ ,m’)[ L ][ Bt J=

1.609 ®m_ || 10° of

(b) Comparing the result of part (a) to the diameter of the Earth, D, we find

Ax  Ax 3.0x107 af
— = - = 2.4 i , = i i
D, 2R, 2(638x10° ) (with R, = Earth’s radius)

2.3 Distances traveled between pairs of cities are
Ax, =v,(At,)=(80.0 km/h)(0.500 h)=40.0 km
Ax, =v,(At,)=(100 km/h)(0.200 h) =20.0 km

Ax, = v, (At,) =(40.0 km/h)(0.750 h) =30.0 km
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Thus, the total distance traveled is Ax = (40.0+20.0+30.0) km =90.0 km, and the elapsed time is
Ar=0.500 h+0.200 h+0.750 h+0.250 h=1.70 h.

_ Ax 90.0 km
= =[52.9 km/h
@ ook ok
(b)  Ax=|90.0 km | (see above)

Ax 2.000x10° m _
—— =(10.04 m/s
@) T o

_Ax_ 1.000 i [ 1.609 Jafi }(10° m | _
®) =" 228.53[ 1 hi, J[],k»m’]_

(a) Boat A requires 1.0 h to cross the lake and 1.0 h to return, total time 2.0 h. Boat B requires 2.0 h to cross the lake at
which time the race is over. I Boat A wins, being 60 km ahead of B | when the race ends.

|
II

|

(b) Average velocity is the net displacement of the boat divided by the total elapsed time. The winning boat is back where
it started, its displacement thus being zero, yielding an average velocity of| zero |.

The average velocity over any time interval is

Ax Xp—X;

At ot

|
]

=t

@ T-g-ymsg
O B
R T Py P T

o3
II

o3
II

o3
Il

o3
Il

_ A ox,—x 0-0

=X _%ThH =[0
© TN T Lo 80050

x{m)

AN

B

NEFARN

4 f b

Wi \

B EN RN YT B

2

- Vi

-+

(a) Displacement = Ax=(85.0 km/h)(35.0 min) [% J+ 130 km =
.0 min

. . lh
ime is Af =(35.0 min+15.0 min)| ———— [+2.00 h=2.83 h
(b) The total elapsed time is ( )[ 60.0 min ]
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2.8

2.9

2.10

__ Ax _ 180 km
j=—= =[63.6 km/h
so, B= = e

The average velocity over any time interval is

- A XX
UV=—=
At t,—t

_ A& 40m-0

= =— =440 S
@ Presee—o

_ A& -20m-0

= —=— —050 5
(b) T="=—

_ M 0-4.0m

= =— =1-1.0 S
©) At 50s5-10s

(d)

The plane starts from rest (v, =0) and maintains a constant acceleration of @ =+1.3 m/s”. Thus, we find the distance it will
travel before reaching the required takeoff speed (v="75 m/s), from v* = v] +2a(Ax), as

2 _ .2 75 s)P =0
ax=T =% B0y =0, 10" m=22km
2a 2(1.3 m/s?)

Since this distance is less than the length of the runway, | the plane takes off safely.

(a) The time for a car to make the trip is ¥ = Py Thus, the difference in the times for the two cars to complete the same 10

mile trip is

At=t —t, =

g_m—_[ 0mi 10 mi ](60min

- 2.3 mi
v, v, 55 mi/h 70 mi/h lh J

(b) When the faster car has a 15.0 min lead, it is ahead by a distance equal to that traveled by the slower car in a time of
15.0 min. This distance is given by Ax, = v, (Af) =(55 mi/h)(15 min).

The faster car pulls ahead of the slower car at a rate of

U =70 mi/h — 55 mi/h = 15 mi/h

relative
Thus, the time required for it to get distance Ax, ahead is

A Ay, _ (55 ml/h)(l.S min) _ 55 min
15.0 mi/h

& relative

Finally, the distance the faster car has traveled during this time is
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Ax, =0, (At)= (70 mi/h)(55 min)[((}l : J:

50 min

2.11 (a) From v; =0 +2a(Ax), with v, =0, v, =72 km/h_and Ax = 45 m, the acceleration of the cheetah is found to be

{72 ®e (100 m ) 14 [ 0
02 -0 [ K [lm][_%fsoos - .
o) 2(45 m) =[44 m/5]

(b) The cheetah’s displacement 3.5 s after starting from rest is

Ax= U}+%ar2 =0+%(4‘4 m/s*)(3.5s)" =[27 m]

—  (Ax), _+L
22 @ Bt =[+L/1,]
_ Ax), -L
® (==
— (A (M), +(Ax), +L-L 0
© Yo = (A1), T 4, 4+, 41 =[]

__total distance traveled _ |(Ax), | +(Ax), _HL|+-L] | 2L
e (A1), t+t, f+t, f+t,

(d) (ave. speed)

2.13 (a) The total time for the trip is #,,, =1, + 22-9 min =1, +0.367 h, where ¢, is the time spent traveling at v, =89.5 km/h,
Thus, the distance traveled is Ax = v, f, =0f,,;, which gives

(89.5 km/h)t, =(77.8 km/h)(z, +0.367 h)=(77.8 km/h)z, +28.5 km
or, (89.5 km/h—77.8 km/h)z, =28.5 km

From which, t, =2.44 h for a total time of t,,, =t, +0.367 h=| 2.81 h

(b) The distance traveled during the trip is Ax =0, t, = 0t,,,, giving

Ax=70t,,=(77.8 km/h)(2.81 h)=

2.14 (a) At the end of the race, the tortoise has been moving for time ¢ and the hare for a time t —2.0 min =¢—120 s. The speed
of the tortoise is ¥, =0.100 m/s_and the speed of the hare is ¥, =20v, =2.0 m/s, The tortoise travels distance x,,
which is 0.20 m larger than the distance x, traveled by the hare. Hence,

x,=x,+0.20 m

which becomes ©,7=v, (—120s)+0.20 m

or (0.100 m/s)r=(2.0 m/s)(r—120s)+0.20 m

This gives the time of the race as =|1.3x10" s

(b) x =0,=(0.100 m/s)(1.3x10" s)=[13m |
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2.15 The maximum allowed time to complete the trip is

'flulul -

total distance _ 1600 m [ I km/h ]=23_05

required average speed 250 km/h| 0.278 m/s

The time spent in the first half of the trip is

_ half distance _ 800 m I km/h 125¢
v " 230 km/h| 0.278 m/s -

1
Thus, the maximum time that can be spent on the second half of the trip is

ty=t,,—1,=230s-1255=105s

total

and the required average speed on the second half is

_  half distance 800 m : 1 km/h
v, = = = 76.2 m/s| ———— |=| 274 km/h
- t, 105 s / [(}.278 mfs]

2.16 (a) In order for the trailing athlete to be able to catch the leader, his speed (v;) must be greater than that of the leading ath-
lete (1), and the distance between the leading athlete and the finish line must be great enough to give the trailing ath-
lete sufficient time to make up the deficient distance, d.

(b) During a time ¢ the leading athlete will travel a distance d, = U, and the trailing athlete will travel a distance d, = v,t.
Only when d, =d, +d (where d is the initial distance the trailing athlete was behind the leader) will the trailing athlete
have caught the leader. Requiring that this condition be satisfied gives the elapsed time required for the second athlete
to overtake the first:

d=d,+d or vt=v,t+d

giving vi—-v,t=d or t=|d/(v, -v,)

(¢) In order for the trailing athlete to be able to at least tie for first place, the initial distance D between the leader and the
finish line must be greater than or equal to the distance the leader can travel in the time ¢ calculated above (i.e., the time
required to overtake the leader). That is, we must require that

v,d
Dzd,=v,t=v,|d/(v, -0, Dz—
2 =0 -[ /(o -)} or 0, -0,
2.17 The instantaneous velocity at any time is the slope of the x vs. ¢ graph at that time. We compute this slope by using two

points on a straight segment of the curve, one point on each side of the point of interest.

10.0m-0 [5.00 m/s]|
@ Uoms= 2 00s=0 W
(5.00-10.0) m -_')
R L L P
(b) Usm0s (4 00-2. ()U m/S
(5.00-5.00) m
=450 & = 500400 s 0
(©) Vs (5.00-4.00) s

()— —5.00 m)
@ Py m-
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2.18 (a) A few typical values are
L(s) x (m)
1.00 5.75
2.00 16.0
3.00 353
4.00 68.0
5.00 119
6.00 192
200 X
180 /
160 /
14 L
120
100
§uo 7
&0 "'f
o .
e "’r/
) 4=t 1
003 100 00 300 400 500 &00

Ha)

(b) We will use a 0.400 s interval centered at =400 s. We find at 1=3.80 s, x =60.2 mand at t=4.20 s, x =76.6 m.
Therefore,

Ax 164 m

— A LAT.0 m)s
T A 0400 s

Using a time interval of 0.200 s, we find the corresponding values to be: at #=3.90s,x=64.0 mand at 1 =4.10 s, x =
72.2 m. Thus,

Ax  8.20m
== =(41.0 3
O e

For a time interval of 0.100 s, the values are: at 1 =3.95 s, x = 66.0 m, and at = 4.05 s, x = 70.1 m. Therefore,

(c) Attr=4.00s,x=68.0m. Thus, for the first 4.00 s,
_ Ax 68.0m-0
V=—=————=[17.0 m/s

T 0t

This value is than the instantaneous velocity at # = 4.00 s.
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2.19 Choose a coordinate axis with the origin at the flagpole and east as the positive direction. Then, using x = x, + v,¢ +at’
with a = 0 for each runner, the x-coordinate of each runner at time ¢ is

x, =—4.0 mi+(6.0 mi/h)s and x,=3.0 mi+(-5.0 mi/h)¢
When the runners meet, *1 =Xp
giving —4.0 mi+(6.0 mi/h)f=3.0 mi+(—5.0 mi/h)¢
or (6.0 mi/h+5.0 mi/h)¢=3.0 mi+4.0 mi

This gives the elapsed time when they meet as ¢ = (7.0 mi)/(11.0 mi/h)=0.64 h. At this time,

x4 = xy =—0.18 mi. Thus, they meet| 0.18 mi west of the flagpole ‘

2.20 From the figure at the right, observe that the motion of this particle can be broken into three distinct time intervals, during
each of which the particle has a constant acceleration. These intervals and the associated accelerations are

0<t<10.0s, a=a, =+2.00 m/s’

10<t<150s, a=a,=0

i,/ 52

wr
=

a2 L)
fi 10 15 20

-3

and 15.0<1<20.0s, a=a,=-3.00 m/s’

(@) Applying v, =0, +a(At) to each of the three time intervals gives

for0<t<10.0s, Uy = Uy +a, (A1) =0+(2.00 m/s*)(10.0 5)=|20.0 m/s|

for10.0s<r<15.0s, ©v;5=0,+a,(A,)=20.0 m/s+0=20.0 m/s

for15.0 s<1<20.0's, 0y =0, +a;(Ar,)=20.0 m/s+(-3.00 m/s*)(5.00 s)=[5.00 m/s]

(b)  Applying Ax = v, (At)++a(At)’ to each of the time intervals gives
for0<t<10.0s,
Ax, = At + %a] (A1) = 0+%(2‘00 m/s*)(10.0's)* =1.00x10° m
for10.0 s<t<15.0s,

Ax, = v, At, +%a2 (At,)’ =(20.0 m/s)(5.00 s)+0=1.00x10* m

for15.0s<t<20.0s,
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Ax, =v]ﬁm_,+%.ar3(m,\)2
=(20.0 m/s)(5.00 s)+%(—3.00 m/s*)(5.00 s)* =62.5 m

Thus, the total distance traveled in the first 20.0 s is

Ax,

total

= Ax, +Ax, + Ax, =100 m+100 m+62.5 m =[263 m]

2.21 We choose the positive direction to point away from the wall. Then, the initial velocity of the ball is ¥; =—25.0 m/s and the
final velocity is ¥ =+22.0 m/s_If this change in velocity occurs over a time interval of Az =3.50 ms (i.e., the interval dur-
ing which the ball is in contact with the wall), the average acceleration is

v, —T. —f— q
Z_Av_ 0,70 4220 m/s—( ?‘50 m/s) _ 134x10° m/s’
At At 3.50x10™ s

2.22 From a = Av/At, the required time is

Ar=&= 60.0 mi/h-0 lg , (}.44?.m/s _[0391 s
a Tg 9.80 m/s’ 1 mi/h

Av _ (60-55) mi/h

AD 0.447 m/s -
=— At=—= 2 =-3‘ S
223 Froma=", we have &T=7 " =770 60 m/s? { I mi/h L

2.24 (i) (@) From¢t=0tot=5.0s,

v, —0, —8.0 m/s—(-8.0 m/s) _

t,—t, 5.0s-0

a=
(b) Fromt=50stot=15s,

_ 8.0 m/s—(-8.0 m/s) _ >
© 155-50s =[16 m/s’|

(¢) Fromt=0tot=20s,

_ 80 m/s—(-8.0 m/s) _ =
30 mis= (80 m) [y

w{m,/s)
Bl

2|

2|

R
I

(= o

(ii) At any instant, the instantaneous acceleration equals the slope of the line tangent to the v vs. ¢ graph at that point in
time.

(a) Att=2.0s, the slope of the tangent line to the curve is @
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(b) At¢=10s, the slope of the tangent line is .

(c) Atr=18s, the slope of the tangent line is @

— _Av _175mi/h-0 _ - -
2.25 (a) a —E—T— 700 ml/h-b
_ i (1609 m \[ 1 K 5
=170.0 =[313
or = [ Kos || 1mi )| 36005

— m 1
Alternatively, &‘:(31-3 T][ﬁ}:

5

(b) If the acceleration is constant, Ax = vt ++at”

1 m 2
Ar=0+5(3]‘3 5—2](2‘50 s)=[97.8m |

or Ax =(9?8 m )[ 3‘T81 i ]:

m
2.26 As in the algebraic solution to Example 2.5, we let ¢ represent the time the trooper has been moving.
S0 =
" car
2504

police
officer

[ 1 1 1 1 1
0 4.00 800 2.0 160 200 #i(s}—

We graph
X, =240 m+(24.0 m/s)t
and

Xyoper = (1.50 m/s” }#°

Lrooper
The curves intersect att ={16.9 s

2.27 Apply Ax = v, ++at’ to the 2.00-second time interval during which the object moves from x; =3.00 cm to x, ==5.00 cm,
With v, =12.0 cm/s, this yields an acceleration of

2[(3:_r —.r,-]—vur] _ 2[(~5.00-3.00) cm —(12.0 cm/s)(2.00s)]
= - (2.00 s)°

a=
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2.28

2.29

2.30

231

2.32

From v* =0, +2a(Ax), we have( 10.97x10° m/s) *=0+2a(220 m) so that

pt—pt L IBAT= mys) =0 |,\ 3 ;
a= == ' =|2.74x10° m/fs’
T 2(Ax) (2 m) '
B T l g -
={ 2. 7= 1 my's || —L,_ =| 2,79 1 rimes g!
| R s

(@) Ax=0(Ar)= [(TH‘ U:,)/ZJAI becomes

2.80m/s+v,
2

40.0 m =[ ](8.50 s)

Fa

which yields ©, = ﬁ(éﬂ).ﬂ m)—2.80m/s =
) a= V=T _ 2.80 m/s—6.61 m/s —[Z0.448 m/s’
At 850s

(e Uy
— e
(@ == == x(m
I I
0 200%10° m

(b) The known quantities are initial velocity, final velocity, and displacement. The kinematics equation that relates these

quantities to acceleration is I’_?- =0 +2a(Ax )‘

z;;. -v;
2(Ax)

v;—v)  (30.0 m/s)’ —(20.0 m/s)’ ;
a=-~ = =(1.25 m/s
@ omTL-L00 w00,

(¢) a=

Av U.—7v;  30.0 m/s-20.0 m/s
(e) Using a=Av/At, we find that AI=?= L= { ; /=m

a 1.25 m/s’

(a) Witho=120 km/h, o* =0} +2a(Ax) yields

e v -, _ [(120 km/h)” _0} 0.278 m/s |
2(Ax) 2(240 m) 1 km/h -

v—-v, (120 km/h—0)( 0.278 m/s
: : : At = 0 — > =144 s
(b) The required time is P 232 mjs’ [ km/h -

(@) From v, = 0] +2a(Ax), with v, =6.00 m/s and v, =12.0 m/s  we find

2 2

v

,02 ¢ 2_ : L
T i =(]2.0 m/s)” —(6.00 m/s) _[(35m|

2a 2(4.00 m/s*)

(b) In this case, the object moves in the same direction for the entire time interval and the total distance traveled is simply

the magnitude or absolute value of the displacement. That is,

d=|Ax|=[13.5 m]
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2.33

2.34

2.35

(C) Here’ U, = -6.00 [n/S and U_.f' =12.0 [n/S, and we find

el

yg. -
Koo = .12 [ [the same as in part (a)]
a

(d) In this case, the object initially slows down as it travels in the negative x-direction, stops momentarily, and then gains
speed as it begins traveling in the positive x-direction. We find the total distance traveled by first finding the displace-
ment during each phase of this motion.

While coming to rest (f’,- =—6.00 m/s, v, = 0],

v’ =o' (0)’ =(=6.00 m/s)’
PO/ . ) o L LE L) AR Y
2a 2(4.00 m/s*)

After reversing direction (Z?,. =0,v,=12.0 m/s),

vi-v)  (12.0 m/s)’ —(0)’
O e L) ) OO
2a 2(4.00 m/s*)

Note that the net displacement is Ax = Ax; + Ax, =—4.50 m+18.0 m =13.5 m, as found in part (¢) above. However, the
total distance traveled in this case is

d =|Ax, |+ |Ax,|=|-4.50 m|+[18.0 m|=[22.5 m]
-7, 240 m/s’-0 5
@ = =T 205y =[8.14 m/s]

v, —7; 20.0 m/s—10.0 m/s
(b) From a=Av/At, the required time is A7 = : p = 3 If4 m/s’ / =

(c

~

For uniform acceleration, the change in velocity Ao generated in time At is given by Av = a(At). From this, it

is seen that doubling the length of the time interval A¢ will always double the change in velocity Av. A more precise
way of stating this is: “When acceleration is constant, velocity is a linear function of time.”

-0

0-100 m/s
. . . t= 0 = ~ = 2 0s
(a)  The time required to stop the plane is P 25.00 m/s’

(b) The minimum distance needed to stop is

_ +7, )+100 m/s .
Ax= w:[v % J = (U+ IU; o J[2U,0 s)=1000 m =1.00 km

Thus, the plane requires a minimum runway length of 1.00 km. |IE cannot land safely on a 0.800 km munway. |

We choose x =0 and ¢ = 0 at the location of Sue’s car when she first spots the van and applies the brakes. Then, the initial
conditions for Sue’s car are X,s =0 and v, = 30.0 m/s. Her constant acceleration for t =0 is a; =—2.00 m/s”. The initial
conditions for the van are x,, =155 m, v,, =5.00 m/s, and its constant acceleration is @, =0. We then use

Ax = x—x, = v,t ++at” to write an equation for the x-coordinate of each vehicle for ¢ > 0. This gives

Sue’s Car: %, —0=(30.0 m/s]t+%[—2‘00 m/s)) or x,=(30.0 m/s)r—(1.00 m/s?)?’

I 2
Van: x, —155 m=(5.00 m/s)r+5(0)r‘ or x, =155m+(5.00 m/s)t
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2.36

2.37

In order for a collision to occur, the two vehicles must be at the same location (i.e., Xg =Xy ) Thus, we test for a collision by
equating the two equations for the x-coordinates and see if the resulting equation has any real solutions.

Xg =y = (30.0 m/s)z—(1.00 m/s*)z* =155 m+(5.00 m/s)
or (1.00 m/s*)#* =(25.00 m/s)+155 m =0

Using the quadratic formula yields

—(-25.00 m/s]iJ(—ZS.UO m/s)’ —4(1.00 m/s*)(155 m)

" 2(1.00 m/s*)

=13.6s or

The solutions are real, not imaginary, so |a collision will occur |. The smaller of the two solutions is the collision time. (The
larger solution tells when the van would pull ahead of the car again if the vehicles could pass harmlessly through each
other.) The x-coordinate where the collision occurs is given by

Xeotision = Xs,_1 0. = %], 0, =155 m+(5.00 m/s)(11.4 s)=

The velocity at the end of the first interval is

v=0,+at=0+(2.77 m/s)(15.0 s)=41.6 m/s

This is also the constant velocity during the second interval and the initial velocity for the third interval. Also, note that the
duration of the second interval is #, = (2.05 min)(60.0 s/1 min) =123 s,

1 .,
(a) FromAx=0,t+ 3 at”, the total displacement is
(Ax) ,, =tAx), +{Ax), +{Ax),

-[nr Li2.77 mfs?)150 5 +[(41.6 m/s){123 5] +0]

=

. [ - W1
i [[-1 L6 mys)i4.39 sp+—[-947 m/s" |{4.39 5) ]

or (Ax), ., =312m+5.12x10° m+91.4 m=5.52x 10’m = | 5.52 km

(Ax), 312m

U = = =|20.8
® F= =150

_ (Ax), 5.12x10°m

_ Ax 914 m -
_( r ); - 30+ =120.8 m/s| and the average velocity for the

3 (Ax) 5.52%10° m —
total trip is T = total =|38.8 m/s
OIS ©n = 7 (15.0+123+4.39) s

total

=
Il
Il

Using the uniformly accelerated motion equation Ax =2, + Lat* for the full 40 s interval yields
Ax=(20 m/s)(40 s)+ {-(—l 0 m/s’ )(40 s)” =0, which is obviously wrong. The source of the error is found by computing
the time required for the train to come to rest. This time is

_v-y, 0-20 m/s _

= = —=20s
a -1.0 m/s’
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2.38

2.39

2.40

Thus, the train is slowing down for the first 20 s and is at rest for the last 20 s of the 40 s interval.

The acceleration is not constant during the full 40 s. It is, however, constant during the first 20 s as the train slows to rest.
Application of Ax = vt ++at” to this interval gives the stopping distance as

Ax=(20 m/s)(20 s)+%(—l.0 m/s*)(20's)" 5200 m

v,=0 and v, = 400 w =179 m/s
: h I mi/h

(a) To find the distance traveled, we use

_ U, +7, 17.9 m/s+0
Ax =7t = L+— |1=| ————— |(12.08)=| 107 m
(257 )= (P25 Joz0
.. 0,0, 179 mfs-0 _ 2
(b) The constant acceleration is @ = = TThos 1.49 m/s

t

At the end of the acceleration period, the velocity is
V=0, +at,, =0+(1.5 m/s*)(5.0 s)=7.5 m/s

This is also the initial velocity for the braking period.

(a) Afterbraking, 0, =v+at,, =7.5 m/s+(-2.0 m/s*)(3.0 5)=[1.5 m/s]

(b) The total distance traveled is

2

(]

_ _ 40 v, +0
A’rlnml = (A'r)uu_'ul + (Ax)hrul\u = (Uf ):n'm:|+ (i"-)T 'r) brake [ [] ]I;“'l'm +[ .I }rl‘luku

7.5 m/s+0 1.5 m/s+7.5 m/s
= ZEE0 Y5 )12 RALTS 8 N 0) =57

For the acceleration period, the parameters for the car are: initial velocity = v,, =0, acceleration =a, = a,,
elapsed time = (Ar), =1, and final velocity = v, For the braking period, the parameters are:
initial velocity = v, = final velocity of acceleration period = v, acceleration = @, = a,, and elapsed time = (At), =t,.

(a) To determine the velocity of the car just before the brakes are engaged, we apply ¥, =v; +a(At) to the acceleration
period and find

va]f» = v_,fi‘r = Ui(f + aa (A'f]a = U + alrl or U.’]"} =

(b) We may use Ax =, (Ar)++a(Ar)” to determine the distance traveled during the acceleration period (i.e., before the
driver begins to brake). This gives

(Ax ):.l = Ua’a

2 | .
(&), +4a, (A0} =043 s or (av),=|Jar}

(c) The displacement occurring during the braking period is

2 I 2
(Ax), =v, (A1), ++a, (A1), = (a1, TS o
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241

2.42

Thus, the total displacement of the car during the two intervals combined is

(Ax). = (Ax) +(Ax) = %alt,z+alt].f3+%a3r§

total — [ b

The time the Thunderbird spends slowing down is

Ax, _2(Ax) _ 2(250 m)

— = =6.99 s
U, v+v, 0+71.5m/s

At =

The time required to regain speed after the pit stop is

2(Ax, 2(3:
ar, =% 208%) _ 200m) 40
T, v+v, 71.5m/s+0

Thus, the total elapsed time before the Thunderbird is back up to speed is
At =At, +5.00 s+ A1, =6.99 s+5.00 s+9.79 s =21.8 5
During this time, the Mercedes has traveled (at constant speed) a distance
Ax,, =v,(Ar)=(71.5m/s)(21.8 s)=1 559 m
and the Thunderbird has fallen behind a distance
d=Ax;; —Ax, —Ax, =1559 m-250m-350m =
The car is distance d from the dog and has initial velocity y, when the brakes are applied, giving it a constant acceleration a.

Apply U =Ax/At = (U_,- +v‘])/2 to the entire trip (for which Av=d+4.0 m, Ar =105, and v, = 0) ) to obtain

d+40m 0O0+w, , d+4.0m
= - ()i v, = [1]

10 s 2 ) 5.0s

Then, applying g:-zr_ = gﬁ +2a( Ax) to the entire trip yields 0 = E-‘ﬁ +2a(d+4.0 m).

Substitute for v, from Equation [1] to find that

2
d+4.0m d+4.0m
ﬂ=¥+ 2a(d+4.0 m) and g=— 2]
25s8° 30s"
Finally, apply Ax = o+ J:- at* to the first 8.0 s of the trip (for which Ay = ).
This gives d=1, {_S.Ds}+%a{64 52} 53]

Substitute Equations [1] and [2] into Equation [3] to obtain

d= d+4.0m (B.Ds]+i _d+4.[1m
5.0s 2 50s°

]{54 s*)=0.96d+3.8 m
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which yields d=38m/0.04=|95m

243 (a) Take = 0 at the time when the player starts to chase his opponent. At this time, the opponent is distance
d= (1 2 []1:.*5] (3.0 5'} = 36 m in front of the player. At time ¢ > 0, the displacements of the players from their
initial positions are

1 1. ;
Ax 4*+En'pmﬂwa‘2 :{}+5|:_4.{} m/s* ) * 1]

player — I{E?'Z' ]pl:r:ﬂer

1

and EII'1"--:-9-]:-t:\|:ua|:|t = [EC' -]Il:-pj:-:uuenl r+5“ﬂppnne-nlr

=(12 m/s)r+0 2]
When the players are side-by-side, AV =AY 00y +36 M 3]
Substituting Equations [1] and [2] into Equation [3] gives

J. & o i -
~(40 m/s*)* =(12 m/s)r +36 m or 1 +(-60s)r+(-185%)=0

Applying the quadratic formula to this result gives

—(-6.05)t,/(-6.0 )’ —4(1)(-18 s?)

2(1)

t= V!

which has solutions of 7= -2.2 s and # = +8.2 s. Since the time must be greater than zero, we must choose f =| 8.2 5

as the proper answer.

1

t+—a, 1"=0+

2
5 Gptaya 1.3x10° m

(b) Ax s)? =

player = [EC- .}Ipl.arjr'e-r

%(4.(} m/s” (8.2

2.44 The initial velocity of the trainis 77, = 82.4 km/h and the final velocity is 7'= 16.4 km/h. The time required for

the 400 m train to pass the crossing is found from Ax=Tf = [[1" +vy },-'fz]f as

M A 2 ) . 3 ]
;= 28x) _ _ 2(0.400 km) =(8.10%107 h) 36005 \_ 15575
v+7v, (82.4+16.4) km/h I 1h

2.45 (@ From p°= z* +2a [_*\_1 ) with v = 0, we have
_1: __1: ,.}
(Ay) = 0 L,,:,:{] 250 mi,]. 1 9m
s 2a h[ 9.8{]' mys” )

(b) The time to reach the highest point is

v— 17y

_ﬂ_

25.0 my/s _[23555

e a

—9.80 m/s

36



(¢) The time required for the ball to fall 31.9 m, starting from rest, is found from

[2(Ay) _ [2(=31.9m)

= —
V a \ —9.80 m/s*

[-J
h
L
[# ]

|
ﬂy-:[{}]r+?rr as =

(d) The velocity of the ball when it returns to the original level (2.55 s after it starts to fall from rest) is

v=1v,+ar=0+(-9.80 m/s?)(2.555)=

2.46 We take upward as the positive y-direction and y = 0 at the point where the ball is released. Then,
Vg =—8.00 m/s, a, =—g=-9.80 m/s”, and Ay =-30.0 m when the ball reaches the ground.

From E,‘E = zrgv +2a, [ ﬂu__‘l;] ., the velocity of the ball just before it hits the ground is

v [oa, +2a, (Ay) =—/(8.00 m/s)’ +2(-9.80 m/s*)(-30.0 m)=-25.5 m/s

_ _ f
¥y \

Then, © =1wv,, +a,l gives the elapsed time as

U=, —25.5 m/s—(—8.00 m/s
(= 5 LD} _ 2 /s { ik I, “.'} _
a, —9.80 m/s”

¥

2.47 (a) The velocity of the object when it was 30.0 m above the ground can be determined by applying Ay = 17,f +%Hf * to
the last 1.50 s of the fall. This gives

l k]
—300m=17,(1.50 5}+3[—9.8Dl; ][1.5[} s)° or v, =|-12.7 m/s
g L

(b) The displacement the object must have undergone, starting from rest, to achieve this velocity at a point 30.0 m above
the ground is given by 1~ = E-‘E +2a(Ay) as

-

—1: — T —_ ." 2 —_
(Ay), =20 = (Z12.7 mjs) _ 0 823m
' 2a 2(—9.80 m/s” )

The total distance the object drops during the fall is then

(AY), | =|8.23 m) + (=30.0m)|=[382m

2.48 (a) Consider the rock’s entire upward flight, for which ¥, = 4+7.40 m/s, v, =0,
a=—g=-980 m_f 5%, V; = 1.55 m (taking y = 0 at ground level), and ¥; = h = Maximum altitude
reached b. Then applying EJ?- = EJ: + 2af ﬂ}':l to this upward flight gives

0=(7.40 m/s)’ +2(-9.80 m/s?)(fy —1.55 m)

Solving for the maximum altitude of the rock gives
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(7.40 m/s)’
2(9.80 m/s*)

Ao =1.55 m+ =434 m

Since M1, >3.65 m (height of the wall), |the rock does reach the top of the wall|.

(b) To find the velocity of the rock when it reaches the top of the wall, we use zrf. = zr? +2a |[ ﬂu_}'}l and solve for T,
when v, = 3.65 m (starting with v, =+7.40 m/s at y, =1.55 m). This yields

v, = M.'I.af +2a(y,—y,) = ,‘,I'I(T.%l{] m/s)” +2(~9.80 m/s?}(3.65 m—1.55 m) =[3.69 m/s

(¢) A rock thrown downward at a speed of 7.40 m/s [B‘; =740 m .-"S.]l from the top of the wall undergoes a displace-

ment of (Ay)=7v,—v, =1.55 m—3.65 m=—2.10 m before reaching the level of the attacker. Its velocity
when it reaches the attacker is

~7.40 m/s)’ +2 (—9.80 m/s*)(—2.10 m) =—9.79 m/s

v, =—\Jol +2a(ay) = (

so the change in speed of this rock as it goes between the 2 points located at the top of the wall and the attacker is given
by

A(speed),,, = —|t-*|.”:||—9.?9 m/s|—|-7.40 m,fs||: 2.39 m/s

Uy

(d) Observe that the change in speed of the ball thrown upward as it went from the attacker to the top of the wall was

A(speed),, = "E-‘_,-|—|EJ_;| =[3.69 m/s—7.40 m/s|=3.71 m/s

The two rocks do not undergo the same magnitude speed change.| The rocks have the same accelera-

tion, but the rock thrown downward has a higher average speed between the two levels, and is accelerated over a
smaller time interval.

2.49 Thﬁe Velosity of the child’s head just before impact (after falling a distance of 0.40 m, starting from rest) is given by
vt =v, +2alAy) as

v, =—/Up +2a(Ay) :—,h.'f{} +2(—9.8 m/s*)(~0.40 m) =—2.8 m/s

If, upon impact, the child’s head undergoes an additional displacement Ay=—} before coming to rest, the acceleration
during the impact can be found from vt = L‘g +2a(Ay) tobe a= ['{} - E-‘? l:|,-"' 2(—h)=v I,.-"E,I:_. The duration of the

'
Peoom .
impact is found from V=T, +af as t=Avfa= v/ [ vr/2h),or t==2hfv,.

Applying these results to the two cases yields

-1

y —2.8m/s)’ ;
Hardwood Floor (fi= 2.0x107 m): a=—= [ —! ,} - = | 2.0x10° nu’s2
2h 2{2.0x107 m)|
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—oh —2(2.0%107 m
and = = [ . ']:].4:(]{}'35: 1.4 ms
v =28 my/s

o —2.8m/s) 3
- { '2] ~={3.9x10° m/s’
2h 2{1LOx107 m|

: 2
Carpeted Floor {1 =1.0x107" m): a=

2 —2(1.0x107* m)

and  i= :?.1><1{:r-‘“s:

i ) |
v, 2.8m/s

2.50 (a) After 2.00 s, the velocity of the mailbag is

Uy = T +at =—1.50 m/s+(—9.80 m/s*)(2.00 s)=—21.1 m/s

The negative sign tells us that the bag is moving downward and the magnitude of the velocity gives the speed as
21.1 m/s|.

(b) The displacement of the mailbag after 2.00 s is

=

v+, ]F_[—El.] m/s +(—1.50 m/s)

(AV) g :[ 5 . }(_2.{}[} s)=—=22.6 m

During this time, the helicopter, moving downward with constant velocity, undergoes a displacement of

= E,:,r+%ar: =(-1.5 m/s)(2.00 s)+0=-3.00 m

(Ay)

coplar

The distance separating the package and the helicopter at this time is then

d=|(ay), - (ay),|=}22.6 m-(=3.00 m)|=|-19.6 m|=[19.6 m]

(c) Here, I{.E-‘,:| :}Im‘g = I{.E-‘,:I :Impm =+1.50 m/s and a,, =—9.80 []1,.'!5: while &g = 0. After 2.00 s, the velocity
of the mailbag is

=181 2

E!'Izu:ugg

m [ m . 1
Upge = 1.50 —+[—9.SD T]{E.DD s)=—18.1 — and its speed is
8 ol 5

In this case, the displacement of the helicopter during the 2.00 s interval is

Ay

. }DPUH = (

+1.50 m/s)(2.00 s)+0=+3.00 m

Meanwhile, the mailbag has a displacement of

Upee T 75 —18.1 m/s+1.50 m/s _
(AV) g :[L ]f 2[ oEr - 1[2.{}{] s)=-16.6 m

2 2
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2.51

2.52

(@)

(b)

(©)

(d)

(a)

(b)

The distance separating the package and the helicopter at this time is then

d= ‘{_ﬂ_‘r]? - {_ﬂ}']h‘: |—1Er.f:} m—(+3.00 m '}|| =|-19.6 m|=

From the instant the ball leaves the player’s hand until it is caught, the ball is a freely falling body with an acceleration
of

a=-g=-9.80 m/s’ =|9.80 m/s’ (downu-‘md”

At its maximum height, the ball comes to rest momentarily and then begins to fall back downward. Thus,

E’I:IL:'IK
height

Consider the relation ﬂu.}' =i+ {r a'i"2 with @ = — £. When the ball is at the thrower’s hand, the displacement is
Ay=10, giving

0=p,— %grj

This equation has two solutions, # = 0, which corresponds to when the ball was thrown, and = 27, /g, correspond-
ing to when the ball is caught. Therefore, if the ball is caught at # = 2.00 s, the initial velocity must have been

- —

0. =
"2 2

(9.80 m/s*)(2.00 s
gt = l:' : }{' }: 9.80 m/s

From 7" = E-‘S +2a I{_ﬂ}'L with v = 0 at the maximum height,

o2 o2 _ AT
(Ay) = v _ DJ (9.80 m_.a}l. _[29m
T 2a 2(—-9.80 m/s?)

Let = 0 be the instant the package leaves the helicopter, so the package and the helicopter have a common initial ve-
locity of ¥; = —U; (choosing upward as positive).

At times ¢ > 0, the velocity of the package (in free-fall with constant acceleration @y =—§ )is given by U = T, +dal

=0, +gr.

as U, =—U;— gl = —[?-‘.;. +gi":}l and speed = v,

After an elapsed time ¢, the downward displacement of the package from its point of release will be
1 2 T - L
(Ay), =vt +anr :—z-::,r—agr = —[ Uyt +5;.3r ]

and the downward displacement of the helicopter (moving with constant velocity, or acceleration a;, = 0) from the re-
lease point at this time is

J_ 3
(Av), =0 +—ayl™ =—v,l +0=—1,t
- . -:'J - o
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2.53

(©)

(@)

(b)

(©

The distance separating the package and the helicopter at this time is then

_11.:

| . .
l:?l = ‘{ﬂv]p — I{.ﬂ}']h ‘ = ‘—(EDI +E"-E'If_ ]_ I{—E?I:Ii"_}l

If the helicopter and package are moving upward at the instant of release, then the common initial velocity is
T = +1',. The accelerations of the helicopter (moving with constant velocity) and the package (a freely falling object)

remain unchanged from the previous case ((J ,=—ganda, = U'].

In this case, the package speed at time ¢ > 0 is |EJF|= o+ apr| =y — g;’i"| .

At this time, the displacements from the release point of the package and the helicopter are given by

- L s I s 1
IZQI.}}P = L,‘fi"+§f??f _EFGI—EQT and {_ﬂ}']h = E:-g.f+?ﬂkr2 =yt + 0= +u,t

The distance separating the package and helicopter at time ¢ is now given by

= ?Lﬁ'f “| (the same as earlier!)

d=|(ay),~(Av),]=

Dyt —— g — vyt
(] 2‘. 0

After its engines stop, the rocket is a freely falling body. It continues upward, slowing under the influence of gravity
until it comes to rest momentarily at its maximum altitude. Then it falls back to Earth, gaining speed as it falls.

When it reaches a height of 150 m, the speed of the rocket is

o= ol +2a(ay) = |

50.0 m/s)” +2(2.00 m/s* (150 m) =557 m/s
After the engines stop, the rocket continues moving upward with an initial velocity of 7, = 353.7 m;'s and accelera-

tion @ =—g =-9.80 [Tl..-'rsz. When the rocket reaches maximum height, v = 0. The displacement of the rocket
above the point where the engines stopped (that is, above the 150 m level) is

-

Ay Lm0 _0-(557 mps) o
' 2a 2(—9.80 m/s*)

The maximum height above ground that the rocket reaches is then given by i, = 150 m +158 m =308 m

The total time of the upward motion of the rocket is the sum of two intervals. The first is the time for the rocket to go
from v, = 50.0 m/s at the ground to a velocity of T = 55.7 m/s atan altitude of 150 m. This time is given by

r :'{.’.‘*'Jl_ (&_‘f}'.] _ 2(150 n.]}l — 084
L El |:E:-+fgl:l }2 {557 +5U‘D}| [Tl.."-S

The second interval is the time to rise 158 m starting with T, = 55.7 m/s and ending with v = 0. This time is
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|:" .T}: [ﬂ'ﬂ‘]: 2(158 m)

== =5.67 s
7, (v+7,)/2 04557 mfs

I, =

The total time of the upward flight is then [, =1, +1, = (2.84+5.67) s=|8.51s

(d) The time for the rocket to fall 308 m back to the ground, with Ty =0} and acceleration @ =—g =—9.80 []1..-"'52 . is

1
found from Ay =1v,7 +?ar2 as

2(Ay) ||' 2(—308 m)

O = =793 %
Y \-9.80 m/s’

so the total time of the flightis  Tight = Fup + aown = (8.51+7.93) s=|164s

2.54 (a) For the upward flight of the ball, we have U; =¥y, ¥; =0, @ =—g, and Af = 3.00 s. Thus,

v, = v, +alAf) gives the initial velocity as

v,=v,—a(At)=v,+g(Ar) or v, =0+(9.80 m/s*)(3.00 s)={+29.4 m/s

(b) The vertical displacement of the ball during this 3.00-s upward flight is

%

— U+ o (294 m/s+0
(AV) gy = = r[arlz[T”]{ar}l:[L]

(3.00 s)=[44.1 m

2.55 During the 0.600 s required for the rig to pass completely onto the bridge, the front bumper of the tractor moves a distance
equal to the length of the rig at constant velocity of T = 100 Km/h. Therefore the length of the rig is

km [ 0.278 m/s

L =vt=|100 -
h I km/h

H{D.ﬁm 5)=16.7 m

While some part of the rig is on the bridge, the front bumper moves a distance At = Lb:ridge + Lri.g =400 m+16.7 m.
With a constant velocity of 7 = 100 km/h, the time for this to occur is

T 100 km/h [ 0.278 m/s
2.56 (a) The acceleration experienced as he came to rest is given by U= T +dl as
. mi \{0.447 m/s
0—| 632 —] _—
_U=0, h I mi/h | 202 m)s?
t 1.40 s - ‘
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(b) The distance traveled while stopping is found from

0 +(6‘%’> ﬂ] [ 0.447 m/s

_ (v+v [ \ h /i 1 mi/h ﬂ
arar=( S5 SEE TIPS rrm

F

2.57 (a) The acceleration of the bullet is

22 V2o :)?
g U7 (300 m/s)” — (400 m/s) _[2350%10° m/s?

2(Ax) 2(0.100 m)

(b) The time of contact with the board is

Y — TN 3 —
v=t, _ (300-400) P =]2.86x107* s
a —3.50x10" m/s

=

2.58 (a) FromAx= E-‘Ui"+{rm*2.we have
. | P2
100 m=(30.0 nus]r+5|:_—3.5{} m/s* |’

This reduces to 3.50 1% + {— 60.0 s] i+ |: 200 &* J'| = (], and the quadratic formula gives

—(-60.0 s'}i\."(—sﬂ.n s) —4(3.50)(200 57)
= 2(3.50)

The desired time is the smaller solution of j =| 4.53 5 |. The larger solution of t=12.6 s is the time when the boat

would pass the buoy moving backwards, assuming it maintained a constant acceleration.

(b) The velocity of the boat when it first reaches the buoy is

v=10, +ar=30.0 m/s+(—-3.50 m/s*}(4.53 s)=14.1 m/s

2.59 (a) The keys have acceleration g =—g =—9 .80 m_l."' 52 from the release point until they are caught 1.50 s later. Thus,
Av=v,t+Lat” gives

Av—ail/?  (+4.00 m)—(-9.80 m/s*)(1.50 5)" /2
v, = Ay—atj2 =- - ] ) — =+10.0 m/s

t 1.50 s

or U= [10.0 m/s upwa;'d|
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2.62

2.61

(b)

The velocity of the keys just before the catch was

v=0, +af=10.0 m/s+(—9.80 m/s*)(1.50 s)=-4.70 m/s

or =470 m/s downwm'd|

—g ). undergo a vertical displacement of Ay

2.60 (a) The keys, moving freely under the influence of gravity |[ i
time £. Weuse Ay= 1,1+ é—m * to find the initial velocity as
1 2 . h+et*/2 |h ot
h=vit+—(—g)t giving EJE:L: +=
20 t 2
(b) The velocity of the keys just before they were caught (at time 7) is given by 70 = U, +at as
gt h gt h gt
o=|2L4 80 +(—g)t=—+ g —gt=|—— £
t 2 ' r 2 r 2

(@) From p° = E-‘g +2a( Ay). the insect’s velocity after straightening its legs is

(b)

The time to reach this velocity is

_ =7, 40m/s—-0

= 000 m /<2 =1.0x107 s=|1.0 ms
a m/'s

(¢) The upward displacement of the insect between when its feet leave the ground and it comes to rest momentarily at
maximum altitude is

o — o

Ay = 2 0-v2  —(40m/s)

. ——=(0.82 m
2a 2(-g) 2(-98m/s"

—=reading order
@) [ [ [ [

— = velocity

—= = acceleration

b) [ [ [ [

= == = =
) === [
o - - i
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2.63

2.64

2.65

@ —0 0 <0 -0

= — = L

(f) If the speed did not change at a constant rate, the drawings would have less regularity than those given above.

The falling ball moves a distance of (| 5 1 — Ji ) before they meet, where 7 is the height above the ground where they
meet. Apply Av= vl + {r at’, with € = —£ to obtain

—(15 ]'I:]—.I"I:I:[}—%gfz

i

- 1
or h=15 m—agrz (1]

1
Applying Ay =71 + ?vﬁ’i"2 to the rising ball gives

h=(25 ]'[],-"S}.i’—%__[}.i’z 2]

Combining Equations [1] and [2] gives

,

(25 m/s)t— &f: =15m-—
. 28

rjé;—'
G
[ )

",

_ 15 m —[0.60 s
25 m/s

or

The constant speed the student has maintained for the first 10 minutes, and hence her initial speed for the final 500 yard
dash, is

Ax, 1.0mi—-500yards (5280 ft—1500ft)( 1m | _ 1.9 m/s
CA 10 min 600 s 3.281 ft '

With an initial speed of 7, =1.9 m/s, the minimum constant acceleration that would be needed to complete the last 500 yards
(1500 ft) in the remaining 2.0 min (120 s) of her allotted time is found from Ax = v, ++at’ as

2[Ax—v,t]  2[(1500 ft)(1 m/3.281 ft)—(1.9 m/s)(120'5)

3 5 =0.032 m/s’
f: (120 8)°

d

min

Since this acceleration is considerably smaller than the acceleration of 0.15 m/s” that she is capable of producing, she
should be able to | €asily meet the requirement | of running 1.0 mile in 12 minutes.

Once the gymnast’s feet leave the ground, she is a freely falling body with constant acceleration @ = —g =-9.80 m/s’. Start-
ing with an initial upward velocity of ¥, =2.80 m/s, the vertical displacement of the gymnast’s center of mass from its start-
ing point is given as a function of time by Ay =v,t ++at’.

(a) Atr=0.100s, Ay=(2.80 m/s)(0.100 s)—(4.90 m/s*)(0.100 s)* =[0.231 m]
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(®)
(©)
(d)

266  (a)

(b)

©

Atr=0200s, Ay=(2.80 m/s)(0.200 s)—(4.90 m/s?)(0.200 s)* =[0.364 m]
At1=0300s, Ay=(2.80 m/s)(0.300 s)—(4.90 m/s*)(0.300 s)*

At1=0500s, Ay=(2.80 m/s)(0.500 s)-(4.90 m/s*)(0.500 s)* =[0.175 m]

While in the air, both balls have acceleration ¢ = @; = —& (where upward is taken as positive). Ball 1 (thrown down-
ward) has initial velocity Yo = —?, while ball 2 (thrown upward) has initial velocity Vg =+, Taking ¥ = 0 at ground
level, the initial y-coordinate of each ball is Y, = ¥, =+h. Applying Ay =y—y, =v,t ++at’ to each ball gives their y-
coordinates at time 7 as:

2

1 | -
Ball 1: }-‘|—h=—v‘]t+5(—8)f‘“ or }'l=h—v[]t—58r‘

1 2 1,
Ball 2: }"3—h=+7):,1‘+5(—8]f or |y, =h+z}”.f_58r

At ground level, y = 0. Thus, we equate each of the equations found above to zero and use the quadratic formula to
solve for the times when each ball reaches the ground. This gives:

1, ,
Ball 1: Ozh—vurl—zgr; - gtf +(2v,)r, +(=2h)=0

_ 2, i\./(zvﬁ)2 —4(g)(-2h) =Y 4 [ﬂ“ ]2 +%

so =
28 g
. . . (g (4 2h
Using only the positive solution gives , =——>+ (—“] +—
g

I, )
Ball 2: 0=h+vl,r3—5gr; - g +(-20,)1, +(-2h) =0

and t,= =+

_(_zy”)i\/(—%“)g _4{8)(_2h) Uy + [&]2 +%

Again, using only the positive solution ¢, = ) + [E] + e
8

Thus, the difference in the times of flight of the two balls is

A'f:r:_fl:&"' Yo h+&_ _&.'_ & _+% - 200
8 g g 8 8 g 8

Realizing that the balls are going downward (v < 0) as they near the ground, we use U_f- =0 +2a(Ay) with Ay =~ to
find the velocity of each ball just before it strikes the ground:

Ball 1: v, =—\[v] +2a,(~h) =—\/(—z:[,)2 +2(-g)(=h) = —\/vf] +2gh

Ball 2: UE}' = _\/vgf + 202 (_h) = _\/(4_110)2 + 2(_8](_h) = _\/Ui-_; + 28:"1
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(d) While both balls are still in the air, the distance separating them is
1, |
d=y,—y,= h+vu.f—5g.f - h—v[]t—igt =20t

2.67 (a) The first ball is dropped from rest (v, = 0) from the height / of the window. Thus, U_f- =, +2a(Ay) gives the speed of
this ball as it reaches the ground (and hence the initial velocity of the second ball) as

0= 05, +2a, (Ay,) = J0+2(=¢) (=h) = 2h.

When ball 2 is thrown upward at the same time that ball 1 is dropped, their y-coordinates at time ¢ during the flights are
given by y—y, = 0.t ++at’as:

Ball1: y,—h=(0)t++(-g)t or y=h-1tgt
Ball2:  y,—0=(y2gh)t+4(-g)r" or y,=({28h)r—4er’

When the two balls pass, Y1 = Y2, or h— Dy’ = (\}28""! )3 ‘M

h h 28.7m -
o« o f=—m= —= — = ]‘2] S
giving =720 \/ 28 1’ 2(9.80 m/s) ;

(b)  When the balls meet,

Thus, the distance below the window where this event occurs is

a=h-y =h-2t =2 BT [ g

4 4

2.68 We do not know either the initial velocity or the final velocity (that is, velocity just before impact) for the truck. What we do
know is that the truck skids 62.4 m in 4.20 s while accelerating at =5.60 m/s”.

We have V=0, +at and A x =0t = [(v+1,)/2]t. Applied to the motion of the truck, these yield
v-v, =at=(-5.60 m/s*)(4.20s) or ©v-v,=-23.5 m/s ]

and

2 2
V+7, = 2(Ax) = 2(62.4 m) or v+7v,=29.7 m/s [2]
t 420 s

Adding Equations [1] and [2] gives the velocity just before impact as

20=(-23.5429.7) m/s or v=[3.10 m/s

2.69 When released from rest (v, =0), the bill falls freely with a downward acceleration due to gravity (a =-g=-9.80 m/s’ ]
Thus, the magnitude of its downward displacement during David’s 0.2 s reaction time will be

|Ay|=

vnr%aﬁ‘: ‘0+%(—9‘80 m/s”)(0.2 5)2‘ =0.2 m=20cm

This is over twice the distance from the center of the bill to its top edge (=8 cm), so | David will be unsuccessful |
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2.70 (a) The velocity with which the first stone hits the water is

v, =—[02, +2a(Ay) =—J(—2.00 2] +2[—9.80 2)(—50.0 m)=-314 =
S 8

5

The time for this stone to hit the water is

0, -0, |-314 m/s—(-2.00 m/s)]

"= B ~9.80 m/s’ )

a

(b) Since they hit simultaneously, the second stone, which is released 1.00 s later, will hit the water after an flight time of
2.00 s. Thus,

_Ay-ar’/2 500 m—(-9.80 m/s’)(2.005)" /2

Uy, = =|-152 m/s
b i 200s
(¢) From part (a), the final velocity of the first stone is v, =| =31.4 m/s |

The final velocity of the second stone is

v, =0, +at, ==15.2 m/s+(-9.80 m/s*)(2.00 s) =

2.71 (a) The sled’s displacement, Ax,, after accelerating at a, = +40 ft/s* for time #,, is

Ax, =(0)1, ++a,t] =(20 t/s* )] or  Ax, =(20ft/s*)s} 1]
At the end of time ¢, the sled had achieved a velocity of

v="0, +at, =0+(40 ft/s* )z, or v=(401/s*)s, 2]
The displacement of the sled while moving at constant velocity v for time ¢, is

Ax, =vr, =[(406/s*)1, Je,  or  Ax, =(40f/s? )1y, [3]
It is known that Ax, +Ax, =17 500 ft, and substitutions from Equations [1] and [3] give

(20 ft/s* )t} +(40 ft/s* 1,1, =17 500t or 1] +24,t, =875 [4]
Also, it is known that t+1,=90s [5]
Solving Equations [4] and [5] simultaneously yields

t1+26,(90 s—1,)=875s" or t; +(—180 s)t, +875s* =0

—(~180 5)+[(~180 s’ —4(1)(875 5°)
2(1)

with solutions #, =5.00 s (and 7, =90 s—5.0 s=85s)ort,=175s (and t, =—85s)

The quadratic formula then gives ¢ =

Since it is necessary that £, > 0, the valid solutions are | t,=50sandt,=85s |

(b) From Equation [2] above, U= (40 fi/s’ ]r, = (40 ft/s’ )(5.0 )=

(c) The displacement Ax, of the sled as it comes to rest (with acceleration a, =—20 ft/s?) is
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0-v*  —(200 ft/s)’

2a,  2(20f/s") Rk

Ax, =

Thus, the total displacement for the trip (measured from the starting point) is

AX,,\y = (Ax, +Ax, )+ Ax, =17 500 ft+1000 fi =[ 18 500 fi |

(d) The time required to come to rest from velocity v (with acceleration a;) is
0-v =200ft/s
.= —-_—— = 10 S
YUa,  -20ftfs?

so the duration of the entire trip is

Low =1 +1, +1, ZS‘OHSSSHOSZW

Lotal

1 2
2.72 (a) From Ay=0,t+ 3 at” with v, =0, we have

R L

(b)  The final velocity is v = 0+(-9.80 ln/sg](2.25)=—22 m/s

(c) The time it takes for the sound of the impact to reach the spectator is

L Ay _ 23m
sound = 340 m/s

sound

=6.8x107 s

so the total elapsed time is 7, =2.2 s+6.8x107 s= 23 s |

2.73 (a) Since the sound has constant velocity, the distance it traveled is

Ax=10,,,t=(1100 fi/s)(5.0 s)= 5.5x10° fi

(b) The plane travels this distance in a time of 5.0 s+10 s =15 s, so its velocity must be

3 ~
vlan_zgzw 3.7x10% ft/s
S 155

(c) The time the light took to reach the observer was

t

T 3.00x10° m/s| 3.281 fi/s

ht

3 g .
Ax  55x10° fi ( 1 m/s ]=5_6X]0_ﬁs

| During this time the plane would only travel a distance of 0.002 ft. |

2.74 The distance the glider moves during the time At, is given by Ax =/ = v, (Ar, ) +4a(Ar,)’, where v, is the glider’s velocity
when the flag first enters the photogate and a is the glider’s acceleration. Thus, the average velocity is

¢ _v[,(md)+%a(md)2
AL At

=v‘]+%a(Ard)

d d
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(a) The glider’s velocity when it is halfway through the photogate in space (i.e., when Ax = ¢/2) is found from
o' =0 +2a(Ax) as

v, = \/trf, +2a(l)2) = \/trf, +al = Jt};} +a [tr{, (At, )] = \/Uf] +av, (At,)

Note that this is lnol equal to v, unless a= 0‘, in which case ¥, =U; =0,

(b) The speed v,when the glider is halfway through the photogate in time (i.c., when the elapsed time is 1, = At /2) is
given by U =7, +af as

U= JE}II +at2 = U!J + Q(AI:I/Z) = JE}II +%a(Atd)

which for all possible values of v, and a,

2.75 The time required for the stuntman to fall 3.00 m, starting from rest, is found from Ay = v, +Lat” as

1 2\ .2 2(3.0
-3.00 m =0+—(—9‘80 m/s“)r‘ so t= (70”',,) =0.782 s
2 9.80 m/s’

(a) With the horse moving with constant velocity of 10.0 m/s, the horizontal distance is

Ax=v,,.t=(10.0 m/s)(0.782 s) =
(b) The required time is # =| 0.782 s | as calculated above.
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